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Cddigo utilizado no scilab do exercicio 1:

disp(AT);
A= [f'ﬁ 1 e I autovalores_A = spec(A);
B=[0;1]; autovalores AT = spec(AT);
C= [_1 0%; disp(autovalores_A);
D=0; _ disp(autovalores_AT);
Ti=[21;11) sistema = syslin('c",A,B,C,D);
T = inv(Ti); sistemaT = syslin('c,AT,BT,CT,DT);
AT = Ti"A™T; G = ss2ti(sistema);
BT =Ti"B; GT = ss2tf(sistemaT);
CT=C'T; disp(G);




Exercicio 2:
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Cddigo utilizado no scilab do exercicio 2:

clc()

clear ()

n=1;

d=poly([1 1000], 's', 'coeff'):
G=sy=lin{lcl, nfd):

bode (G)|
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Cédigo utilizado no scilab do exercicio 3:

function [x]=integrador3(a&, B, C, D, u, t, x0)
de=t (2)- t©t (1)

¥x=zeros (length({ x0 ) , length ( £t ) )} -
X [ .1 )= x0 ;

phi=zeros ( size(d) )

for k=0:3

soma=L  k*dt kS factorial ( k } :
phi=phi4=oma ;

end

phi

T=zeros ( =size (B ) )} :

for k=0:3

soma=A  k*dt " k/factorial (| k+1):
T=T+=oma ;

end

T=T*dt

for i =2: length ([ €t )

X (¢, 1 )=phi *x ( @ , 1 -1)4T*B*u ;
end

endfunction



